HW #32 Soluhtns.
J8 Pu'\.f. G‘{,“I,"D Vv 2(0,1,0)

Xz =~ +0€ = =
Y'—‘-“%\’E‘-“é—'l
Z =

- FO{' —_——
[,a')’(‘l,f-l -1 A
Le#)s =17 ¢ é-r)j‘) - [l

1b. (i ihrwjk points PC-5,0t) ad Q(6,3,2)

Xz 5rle 5 = -5 4t
: Dt (-3-0)¢ =+ -t
14'}(2o é : .2-6

23. Do fhe [des (x,y,2)2 (€44, 446 £-2) and
S(x,j:j:))“- gisw}t’ s+\':’ls-')a-) NFersect B

t £,vldz2g, +3 L PR
Wt §oc i n -
(0 96, 155 +f t, = 'Zs,l-S-‘"l)

(%) B~y 224 =3 £, 2 25, -1
Subsbf ke tnto (2):
4(2s,-1) +5 = s+ |

s, 7S
SO Les (s [S.20
w'vk,ju tb phen Sobbitiuie valu 'Fo( S, W (1)
1,":."/ aad S, 20. £, -2 ¢ 9);"3
£,271]



